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Jahangirnagar University Admission Test-2017-18 
A-Unit·Set-3 

Ol. f.1$lf�'lf,r1'ta;,;"'1'lfilr 
(a)f.!• +-.. (b)f.!+.,. (c) f.i,j+-.. 

02. m,;C'l"'l),,,ll"""""'"""""�ff'llt'I-.,,,
(a) 1962 (b) 1972 (c) 2002 

03 ·-�---;ms,r,

(a)- (b)""'" 
04. 'Race discrimination' refers to­

(a) Differences of caste, creed and colour 

(c)"'"'""' 

(b)Distinction on thebasisof caste,creed and colour 
(c) Competition among then members of a race 
(d)Demoralization ofpeople 

(d)f.l>lr+..,-

(d)2012 

(d)'""-

[Ans:a 

[Ans:d. 

[Ans:c 

[Ans:b] 

05. 'Everyone has the right to equal access to public service in his/her country'. [Ans, d] 
(a) 15(2) (b) 17(2) (c) 19(2) (d)21(2) 

06 Following which one is not included in 'The Seven Cs'? 
(a)Criticism (b)Crcativity 

07. �'li?��? 
(a)) (b)4 

08. ��i�T"fll'Jil!T���? 
(a) ""14000 (b),m, 5000 

09. <fflil.-l'MT, 

(c) Communication 

(c)5 

(c),m,6000 

(a)='ll'lil (b)- (c)"""' 
10 (SN,!J��"IRJ�? 

(a)�""'- (b)� (c)"""" 
11 -�-""""� 

(a)- (b)'lW! (c)<"""""" 
12. -'li'--'"""'

(a)lir- (b)lir""'"' (c)� 
13. ���lgl'l��"IWI'���? 

(a)"'1ln"! (b)"""1'1flt111- (c)---
14 ffi-,f'(3�Wfl'ffl�ffi�<f@,�.ft�r 

(a)� (b)"""" (c)'i'l't 
15�f.rc5'ifPfl�-

(i)l"ffll" (ii)- (iii)� 
__ ., 
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[Ans:aJ 
(d) Collaboration 

[Ans:cJ 
(d)6 

[Ans:cJ 
(d),m,7000 

[Anscd] 
(d)-av 

[Ans:aJ 
(d)� 

[Ans:a] 

[Ans, d] 

[Ans:c] 

[Ansca] 

[Ansca] 
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18. 24Cr�'::itt'f�'ft.�. 
(,)5� (b)4� (c)6� (d)<"PASll 

..,.,.,, (c); c,(24) = [Ar) ITJIWilll � 
19. �(<Jli{��'ffg�•"ffmrffl-.wl· {Ans:aJ f 

20. 

21. 

22. 

23 

24 

25. 

26 

27. 

28. 

29 

(;)""l'll�Jl'I'"' (H)""'1'l)t-"' (;;;J""l'll"""11lF�""' 
-�•,

(a)i (b)i,ii (c)ii,iii (d)i,ii,iii 
f.!tRC<11P1�� .. m�lllt'll, [Ans:dJ 
(a)ScH (b) Hg2+ (c)Zn2+ (d)Ni2+ 

cm;Jnr �"'-11'JT f.JR'?l<Kf7 [AascbJ 
(,)_"""' (b)-- (c)-""' (d)-'IR> 
N03�fft��, {Ans:d] 
(a)l6 (b)l5 (c)JI (d)32 
(<IIP!c:ijtr;"(���7 [Ans:c} 
(a) CHCl3 (b) NaH (c) HF (d) HB, 
""'"¥-·�- [Ans:a] 
(•)""..,.,, (b)"3""' (c)'I'{""' (d)'I'{"" 
Pl'ro-<,�u:;i�f.J��r [Ans:a] 
(a)�� (b)--- (c)isr�<ftiif (d)-= 
--""""' 

(a) HN03 (bJHCI03 (c)H3P04 (d) H2S03 

����Hp-Hr�'ll'R-
(a),,.� (b) - (c)'f')(o) (d).,r,,,"'-<11 

��· 

(a)C!i'I' (b)- (c)!l"1 (d)"1'1t"""' 
�:(b);'IJ11�"fffl��Pfl 

Na25203 + 12 -+ Na 25406 + Na!�-
(i)l2 � (ii)l2 �1ffif<t� (iii) Na25203 � 
-�•,

(a)i (b)ii,iii (c)iii (d)i.ii 

[Ans:aj 

[Ans:a] 

[Ans:a] 

30 Zn/Zn 2+(E0 = +0.76V).nif)fl�RT,Rc������, 
(a) Co/Co"(E' = +0.28V) (b) Mg/Mg2+(E' = +2.36V) 
(c)Ca/Ca2+(E' = +2.87V) (d)A\l+/Al(E' = -l.66V) 
'flilt1IR:(a);ff'IIT<ll'Co/Co2+i£1111ffi1<tRo<'!Zn/ZnH <!l'f1fll't�"(C!5<J'l'1 

31. -·�""""'°""!,mi'""' [Aascb} 
(a)..,,_, (b) _ _, (c)"""""""'_, (d)�""'""-

32. �"'*'™"'"�1n,,.""1x-wv11s.,.,,,.,v-2,4-DNP..,._"1'1""""''11s"" 
�ml:�8<1t'Rl1!1tlif��ifl IX�"'-�· 
(a) CH3 - CH2 - CH2 - OH (b) CH, - CH2 - CHO 
(c) CH3 - CO -CH3 (d) CH3 - CH(OH) - CH3 
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[OJ �..,,.-...-r _, (d); CH, -CH(OH) -Cti3 - CH3 -CO -CH3 '"'""""' 

33.��sii,,mi, 
(a) "'lfu (b)""""' (c) - (d) -
_,(b);a-""'"""1...,..sii,,mi1 

34. -�--'•<ll? (Ans:b] 
(a) PhCH = CH, (b) PhCH = CHCI (c) PhCHz - CH2Ph (d) Cl,CH -CHBr, 

35. f.it,tm-$""""""""'""""""'"'"' [Ans:c] 

(a) OH (b) NH, (c) CHO (d) CH3 
36 "'*"'"",m-,,.m-®, [Ans: c] 

(a) -cH3 > -cHR2 > -cH2R > -cR3 (b) -cH3 > -cH2R > -cHR2 > -cR3 
(c) -cR3 > -cH2R > -cHR2 > -cH3 (d) -cR3 > -cHR2 > -cH2R > -cH3 

37 ,rnh M = [�1 �] .. - .. '""®, 

(a)[� 1] (b)[11] (c)[� �] (d)[; i] 
14 14 14 14 14 14 14 14 

-,,(b),M=i!, 'J=W'=�=[;; 1] ,.IMl=l2+2=14 
3 [Ml 

t 14 

38. (x+�)
8 

<!R�-.ro"fl1�? 

(a)lllO (b)I020 (c)\230 (d)ll50 

�=(a); 8C4x4 (;)
4 

= 70X16=.,) 120 

39. -���'""
3
-�

.fi'
'!IIl'l151�i,"I"�? 

(a)t-i� (b)t+i� (c)ii-� (d)ii+if 

�·(a)' 3-:./i'- (H�
1:i,fl)- 1

3
1 +i� · �"rf = fi- i� 

40 Sx2 -kx+9 = 0�fffi;'f'l���k<M11Ji!'�t 
(a) 12 (b)\6 (c) 18 (d)9 

�=(c);« +S«=i=>6«=i; soc.oc= �=>s(�f =�=>� = i :. k= 18 

41 S=(xER,x:,,i}WIS .. 'llilt-.,m-$? [Ansca] 

(a) I (b)O (c)-l (d)i 
42. (a,O),(O,b),(1,1)�-""'-,.,t' , 

(a)a+b = l (b)!+!=2 (c)a+b = b (d)a+b=ab 

�:(d);�=2i=>� = �=>�=ti=i=>Y
=

; 
• t-.!. • .!.�!.+i= 1 => a+ b = ab 
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+:!y' +6x-8y+c = o,,itx..-...-f...,,c..,..,.� 
(a) 2.5 (b)3.5 (c) 4.5 (d) 2.25 

44. 2x-Sy+9 = o--esax+8by = 1s��f.ttlf-r1JiW1 a '6 b�11'r-l''fft 
(a)a=-i,b=� (b)a=�,b=* (c)a=�,b=-* (d)a=-;,b:::_, 

�: (a);t=�=¼s�a = -�,b =� 
45. -�� .. �--··""""'""'"'' 

ooi oo� 001 
2b21 � �,/3 �=(c);7=2,2b � 2b = a :. e = -.J�= -.J�=2 

46. y2 - 6x+ 4y+ 10 = O ����? 
(a) x = 1 (b) x + 1 = 0 (c) x = 0 

47. ixk=�? 
(a)i (b); (c)-k 

48. QJJ,{��7 

(a) y = sin(x + 30°) (b) y = tanx 
49. f(x) = x2 -9 � r-1(7) = �? 

(c)y = secx 

[Ans:a· 
(d)x -2=0 

[Ans:d 
(d) -i 

[Ans:b 
(d)y = cosx 

(a)(-3.4) (b) [-4.4) (c)(-4,4) (d) [-4,0) 
�:(c); f(x) = x2 -9-y�x2 =y+9� X = ±J'y+9 = f-1(X) 
"'r-'C7l = ±../7+9 = ±vTI = ±4 = {-4,4} 

50. lim (1 +.!.f
+3 

=<Ri? 

(:)J 
X 

(b) e (c) e2 

51 f ex!:-x=�? 
(a) sin-1(e x) (b) � (c) cos-1(e-x) 

52. ;+�= l,X�'(!y�'ffiff����? 

(a) 10 (b) 5 (c) 2 
_,.,(a); "'""!(0,0)(4,0)(0,5) => A= �I� � � �I= 10 

53. J 3bxdx = C<fiiilft? 

(a)� (b)� (c)� 

�: (c); f 3bxdx = f z��:3 = f � = � = �
[�, 3bx

3 
= z 

� 
bxln3 = lnz � bln3dx = 7 � dx = 1.:1:3] 

54. tane =7�sme��cw,$7 

(a)� (b)¾i (c)i 

(Ans:t 

(d) 1 

[Ans:, 
(d)tan-1(e x) 

(d)20 

,., (d)� 

(d)¼i 

�:(Blank); sece = .Jt +tan2 0 = R=� :. sine=�= �--k='lsi
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� y=cotJ<"1<"AI,"""��, [Ans:a] 
(a)n (b); (c)� (d)'," 

56. sin9""-""""-"""m-$1 [Ans:d] 
(a)i (b)n (c)O (d)2n 

57 J$1���m'Pf��1��Tail(T)�W<RT'ff"P [Ans:a] 
OOi 00; 00� �i 58 2,1,10,s�r-:•m�FiRP:rifTlll�? [Ans:c] 
(a)S (b)2 (c)6 (d)4 

59 5<llff�6�mtiffl1iffl°�Cffl�60° (<J1CCl�1A.B=�r [Ans:aJ 
(a)IS (b)20 (c)25 (d)35 

60 P = 5)-J + 3k;Q = hmP x Q =�? [Ans: aJ 
(a)-i-s; (b)i-s; (c)i+s; (d)O 

61 �IJ!'<30m/sCW!���ffl5m/s 2 1Ri!''ljft<RrW'IT1��.ofi,"ft"�� 
(a)l2.Sm (b)14.5m (c)l6.5m (d) 18.Sm 
'lfll'NR: (a); s1 = u +�a(2t-1) = 30 +f x 5(2 x4-1) = 12.5 m 

62 ��"!Nm���. tO-mt(����C<t"l20rad/sec�1�� 
{a) 4.183 rad/sec2 (b) 3.183 rad/sec2 (c) 6.183 rad/sec2 (d) 8.183 rad/sec2 

"11!NA': (b); 8 = Zn x 10 = 20n => w = 20rads-1 
=> w2 = 2a8 =>a=�= 3.183 rads-2 

63 �<liTCR�����f.!"5"1�40° 1����ftft'ffl�,nj? 
(a)0.87 (b)0.85 (c)0.84 (d)0.97 
'11!NR:(c); µs = tan8 =tan40° 

64. �Vf"ll�'ffil'M<PUPll�R1��'Jl!t'['lf<!JHl''f�Rf.st'lflf'ff? [Ans:b] 
(a)�MR2 (b) MR2 (c)¾MR2 (d) ..fMR2 

65 20kg-m"'Joule<ll!f'M;JWl�m7 [Ans:b] 
(a) 1991 (b) 1961 (c) 2001 (d) 1881 66 -$Bl<IJT'l4X 108m�'5ll'22 X 1028kg 1�'1!tl!:�QM� 
(a) J21.4km/s (b) 122.SKm/s (c) 130.6km/s (d) 110.6km/s 
�' (blank); Ve= J¥- = 383.19 km/s 

67. <11"1t��2�60m-CliP'Pl"cinFl��(m)'ff7 
(a)0.993 (b)0.963 (c)0.925 (d)0.989 
W.:(a);T=7=2s. T=211�=>�=i :.L=�=0.993m 
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1iiim2 ------m!'!0%�"""""""'"""'""""""1 

(Y = 2 X IO"Nm2] [An,. 
(a) 2 X IO'N (b) 6 x !O'N (c) 8 x !O'N (d) 12 X IO'N 
O'C-�'('l"°'..imr..111..,., [Ans:� 
(a) 560m/s (b) 461m/s (c) 86lm/s (d) 961m/s 

�: (b); Crms = % = 461 ms-1 

70. M"""'""'"'_,,,,m.1'>!ITT"11!"""'""""'"11'1N- [Ans:,1 
(a)--,.�--..r-..m (bl--"'�'"""<m-..r<af'rm 
(c)""111-"'�'"""'1ll-..m (d)""111-"'�'"""<m"1'rm 

71. -""'"'-�""'i.,.."'"""'--�f'itllla!i, [AnS:bJ 
(a)- (b)"1t'ITA•""'"""" (c)- (d)-� 

72. ��lffel"E2 �o�E1 f;m.11Citffliil'�,������- [Ans:d] 
(a) E2

:
c

E1 (b) � - � (c) h(E2�E1) (d) E2�
C

E, 
73. <flb,m!�<UNJTVC<JR�'JflJl'l'�? (Ans:c) 

(a)'IJ3'1"il"""" (b)_,,_ (c)_,,_ (d)-'lll 
74. 'l!lllt1'ITTf����.tfim'�"li<l'-

(a)- (b)- (c),.,¢, (d)-'lll 
�:(d);1!Jl1t"l'B'�'lif!IF�o!TI 

75. -+1.SD.,..-3.SD""""",;fi)i:a,,<'l'!""""""'-"IM'1<1»t,.,__'l"J'<ffl- [Ans:aJ 
(a) -20 (b) 2D (c) -1/2D (d)l/2D 

76. h�AC��eo.lr-J����c,,fi{�lltn<IPl?IRI-U<llf [Ans:b} 
(a)�ffl (b)�- (c)-- (d)� 

77. ��C<Jl!lffl��<!lll1.SV��afl:f0.05(P{ll1����� 
'"°'O.S�<A�lfflll'���llJil'�-
(a) 5/2 (b)2/5 (c)7.5/5 (d) 1.513 

�: (blank); I= n;!r = sx:.:�:.os = *A 
78 ���'511Rmll'��3x 10-19mdf<R'5lm"'lfflll'T'f3.2x 10-9c1��'(t'i! 

3cm 'i_ar<A�"N���� 3.2 x 10-15 NC-1 'U"!'ND!�Hflll't<R'llJil'· 
(a) 3 X 10-19 X 3.2 X 10-9 (b) 3 X 10-2 X 3.2 X lQ-9 

(c).;; ]�:�:��' (d) 3.2 x 10-5 
x 3.2 x 10-9 

�: (a)j p = q. 21 = 3.2 X 10-9 X 3 X 10-19 
79. �'l'f'l"'lll...,IS>nffi- [Ans:al 

(a)-""'"""'"'" (b)�ffl (c)ffi'l'lt'fllm\l:m(d)-
IO. ""11lf"lffl�"11'1N20cm I""""' 2A �-Plt'I 3.14 x 10-3T .. --?<fl""

�'"""'""' 
(a) 4 

"' 
(b) 40 (c) 400 (d) 4000 

�:(blank);Tr=B: n=�=SOO 
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